MODEL QUESTION

CLASS-XI
ENGLISH

Sample Questions:- Assertion & Reason

Direction: In each of the questions given below, there are two statements marked as
Assertion (A) ad Reason (R). Choose the correct one from the possible answers 1, 2, 3
and 4 that follows the statements as your answer:

(1) Assertion : The presence of the young stranger made Jakanachari furious.
Reason : The young stranger was there to prove himself a better sculptor.
1. Both A and R are true and R is correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. A is true but B is false.
4 A is false but R is true.

(i)  Assertion : Malcolm was lying half-buried in the creek.
Reason : Barb ran towards the lodge for help.

Both A and R are true and R is correct explanation of A.

Both A and R are true but R is not the correct explanation of A.
A is true but B is false.

A is false but R is true.
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Ans: 1



